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Algebra 2

Function Operations HW Day#1

Perform the indicated operation.

1) glx)=4x+3
h(x) =x2-3x
Find (g + 7)(x)

3) hin)=4n+4
g(n) =4n+2
Find (h - g)(n)

7D flx)=3x+2

x)=x3+x

Find (ﬁ)(x)

9 Wa)=a*+5
g(a) =3q-4
Find (% - g)(a)

Name

Date

2) g(n) =2n+4
h(n) =n?+2n
Find (g 3 h)(n)

4) g(a) =a® +5a

fla)=—4a
Find (g - /)(a)

6) h(x) =x% +4x
g{x) =2x+4
Find (h : g)(x)

8) g(a):Za—2
f(a)=a2+5

Find (?)(a)

10) gl) =31 +3
W) =1 +2+ 21
Find (g - 2)(2)

Period



11) gla)=4a+5 12) glt) =7 +3¢

f(a)=a2 + 3a We) =3¢
Find (g -f )(a) Find (g + h)(t)
13) f(x)=—x-—3 14) gln)=4n-3
§(le=( }cz )( ) fr(n) =n> +3n?
n + gl\x : &g -
Find (f)( )
15) g{x)=4x—5 16) g(n)=nz +4n
f(x)=x3 + 3x h(n)=2n—1
Find (g - f )(x) ) Find (g + h)(n)

Perform the indicated operation at the given point.

17) f(x)=3x-3 18) ha)=a-2
a(x)=3x+5 ' gla)=2a-3
Find (f + g)(-10) Find (h - g)(7)

19) glx)=x>—x 20) fln)=n-2
hx)=—x g{n =-3n+4
Find (g #)(3) Find (1 - £)(0)
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Algebra 2 Name 1 AINSWETL  A<E T

Function Operations HW Day#1 Date Period
Perform the indicated operation. COMBINE CIKE {'MS
1) g(x)=4x+3 2) g(n)=2n+4

h(x) =x%-3x h(n) n* + 2n

Find (g +h)(x)= 30\51— H(}L) Find (g +h)(n 3(_,0 + L,(_rb

'(:'i‘&'r% -l-(x’-,?ﬂs CZn *LD % (n *2\

\’752'4—»«#3 \m

3) h(n)=4n+4 4) g() a’ +Sa
()4%2 fla)=-
Find (7 - g)(n h(}’ﬁ"‘ (n) Find (g f a= 5(05 ,F((;D
| (.q”"'q\ ("f” *’7) (2 *"OO\\ (o)
St UtE ¥ - ﬁ P ; AL =5
Hn+d - Yn -2 = @ G+ B + ey '(O\_TCEJ
5) gln)=-3n 6) h(x)=x? +4x
h(n)=n2+2 g() 2x+4
Find (g 1)) = ¢(n)- h(n) Find (1~ g)lx) = h(w) - 02

(3" Y n%+2) (~X2+q7‘\(7—"~ "'%

253+ Yx* +9x %+ lor

‘"3‘2?‘\3—(0(\ T, 2 -
\ “7 [ 253+ 2y + 10|
7) f(x)=3x+2 8) g(a)=2a—2
glx)=x> +x fla)=a*+5
Fi d(f)() 'p(}) Find(ﬁ)(a) - 9& | Ze-2
‘_9(,10 f £(e "\ ot +E
D
3 vt
9 ha)=a*+5 10) g()=3t+3
g(a)—Sa 4 Hle) = r+2+2t
Find (7 - g)(a) \q(q_\).. (_c) Find (g - A)(7 ﬁ&;\ ln('(:)
« +5) (Be-c"T) (Bt-r%)u, 12£ +2)
o +S— Be +H 3¢ L+ Gt “e(pt 126+t + o

\ 3(; 4G 12t +ﬁ\

o -3 +9




11) g(a)=4a+5
f(a) a* +3a
Find (g - /)a) = oed- L (e

CHO\ 4 5) CO\'Z'}%“)
L{O\_ rs - 0\2 - Do

{(—-0\1 +a 1?\

13) f(x) =—x -3

o) =

Find ( + g)(x) - 9495
(= %534 (%)

15) g(()) 4x 5
flx)=» +3x
Fmd(g f (ﬂ ‘a}()
(Hx- 5)(x +5Q

U + 2" - By - 15X

12) gl =7 +3¢
() = 3¢

Find (g + h) ij +h (.‘53

16) g(n')=n2 + 4n
h( )=2n-1

Find (g + h)(n) s(n\ {,h(lnb
(n +4n) 4 (2n-1 Y,

‘hl+(on —TJ

2 Z
\ ’—h(* Ky~ +1x "|5¥X
Perform the indicated operation at the given point.

5ubs-\"'t-|-u+

% > U =
" SRR S
Find (1 + g)(~10) .{I(-w) +3(—10) Fmd(h 2 < h(N - ‘j(ﬂ

(3G9 [+[30)5]  [7- z] [2(-31
20 =3 (¢ [-30+ ‘5] S -1
Sy ey

19) i((; x—x 20) f(() -3
F1f1d (g- 1) 3(3\ - h(z) F1zd—f ;;+ HO)
O -2
L2*-37[-3] [ _fi _Ekl 3(0)+B
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